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A Green Cornfield

yadlayd Jda
Poem: diuad Title : &) siad) Poet :_sLlall
A Green Cornfield Christina Rossetti

i) 03 Jia (09 Uiy S
Saall Bis/dols O LadSk** Fualilll 5 B3yl gl s 5leal| *kkx
1 | stanza §sri gladio* ol | e Wlxdl/ gz sadl
2 | rhyme scheme gorddl o) 9N /L LadI* 1| timy | The writer /&g
3 | alliteration o il * he/his | The skylark /3_:! jia
4 | dissimilar words Gl /soblaie Olads *
s it | @) Lglad> ogddae Buaill 305 oI LIl & LadS )| ¥¥*
Word Meaning gy )
1 | speck - dot (Small ) Jhualdadi*
2 | in accord | - harmony( in agreement ) alauil*
3 | tender - Fresh (young) bl (aE*
4 | stalk -The longest part of a plant cildl) gl
5 | swift -- fast o
6 | nest -- A place made by a bird for laying eggs. e*
Key Words 8imaill agdl 4age Silals
Word Meaning Word Meaning
il skylark -l Db 11 walks <l glad
2 cornfield =05 Ja> 12 somewhere | L s 4
3 Stage - o uio 13 among O
4 butterflies alal 14 stalks bl Gl
5 danced Cuad )y 15 unseen s
6 sank wer/ wple/ 16 paused o g5
7 soared &y 17 To hear glad
8 stretched Lo 18 song 4id)
9 beside o by 19 slid ok
10 nest B 20 his mate A




(A Green Cornfield : »&ail o 3 Jia)

The earth was green, the sky was blue:
1 saw and heard one sunny morn

A skylark hang between the two,

A singing speck above the corn;

sl slamdly ol puad () cuils
MCQ@Q\SMJQJJ
i) (s ABlaa § 48
blﬁ\éﬁhﬁ@s

A stage below, in gay accord,

White butterflies danced on the wing,
And Still the Singing Skylark Soared,
And Silent Sank and Soared to Sing.

odoUll WNR

‘Cﬁeﬁmgéje‘;ah‘cﬂuj
liadl o pliny il cud,
a4 WpaBdl) <3 )5 Lag
la_ia adiy) g Lalua (addl) 48 g

9 | The cornfield stretched a tender green
10 | To right and left beside my walks;

11 | I knew he had a nest unseen.(hidden)
12 | Somewhere among the million stalks.

Ll | puad) 3400 Jia iaf

Aghd Cuilay Ghagh) N g cpadl
Wi Lie agal o)) b e

O e G e (1S b

13 | And as | paused to hear his song

14 | While swift the sunny moments slid,
15 | Perhaps his mate sat listening long
16 | And listened longer than | did.

AL ) £ Lo i g Lalla

Loy j el dwadiall cUBaall) euilg
Sl gk geaiad Cualy 47838 ) Lay
Ul culad Laa JiS) Camatiad) g

Christina Rossetti/ )y L S

First Stanza : Js¥ gxdl aaial)

The earth was green, the sky was blue: (a) e85 slawdl g o) puad () cuils

| saw and heard one sunny morn (b) adia lua ) Caang Syl

A skylark hang between the two, (a) oY) (s Allaa 5,8

wW NP

A singing speck above the corn; (b) (alliteration /g Li>) 3AN (398 B3 e AalS

(@b ab): .. (rhymescheme: ahiall ligl g addl gla)) :laa aga

2 g Lelon con 3 Jghn g AL B guaSall Y1 ) piak) g planad) 285 Ul il i Aacgal) Jlas el 138 35 o Lal) cli o
13 sshall anall 35LA) ) *speck'” o iua daky 4318 g Led 10 o) 3yl yilda J ganti CullS Lad (uadia zlua cld il ) i U Gl
slaudly ¥ gl (the two): o 43uab La 138 g (2 ¥ g slamd) ¢y Alaa (ilkal)

(Paalll oda B oLl Hgad ) Aa e Jisadl (Sas) *  The poet feels content / 3aualll oda AL i ady sl o

LS 1 B gall ANIT il Lgd Plue Js¥ Jaadly 4alS J3) () BaY " a b a b "iA (rhyme scheme) Sauadl) 488 of Badi o
corn & shall 8 dals AY 4 pall Au gall udi g O 235 morn (AU plaad) B 4als AY @ k5131 two

Adi oa AalS (S8 J o1 cial) ), i al) (uily cilalS) oda fadiy shaed) (udl dajlite ClalS e o e a : alliteration / (ubial) e
S5 Hia) bl il 125 gl a3 (Singing Speck) clals al ) shaad) & BaY (¢ AY) dals

| Comprehension : Js¥) adiall /agdl) dliui |

odle ) (5 i) adalall AAEY /g ) (580 98 La—

1) What is the rhyme scheme of the above stanza?
* Answer: (abab)
2) What does the poet mean by" the two"'?
* Answer : The earth and the sky.
3) What did the poet see? ¢ el sl i -
* Answer : A skylark

" the two/ (i) "o e Lad) Laly |3l -




4) What is a skylark? fa skylark/ 3,41 A L -
* Answer : It is a bird.

5) What was the skylark doing? 3,481 yila Jady o\ M -
* Answer : It was hanging / flying between the earth and the sky.

6) Where was the skylark? $5_udl) il (S (ol -
* Answer : above the cornfield.

7) What is the size of the skylark/ the bird according to the text? g, oaill B8y 8 ,al ik aaa La
*Answer : "small /speck "

8) find a word in the above lines that means" small"? § " e il Al g odle) phadl e dals aae
* Answer : " Speck "

9) What do the " green " and " blue" colours sympolise? S g paAY" sl Ja 3 ) -
*Answer : 1) The green / freshness of nature : 4xxhll 3 Lai ( The earth u=_¥i 08 )
2) The blue / trust : 4% ( Thesky stacdi st )

10) List the colours that the poet used to describe the earth and the sky?
Solawdly Y cia gl jeLil) Lgasdin ) o)) oY) aas -
*Answer : (1) The green »23Y) : The earth : 028 08! (2) The blue G.3¥1 : The sky  : slewdl !

11) Find an example of alliteration in the above lines? €ode) jhaul) (e uliall o Yl 2

*Answer : "A singing speck ........ "

12) According to the above lines, describe the poet's feeling?
" Mood" Sg)iall sl el ciua o3le) shaudl il -
*Answer : She feels content : La b g2l

Second Stanza : Gl g adl) aaial)

5 | A stage below, in gay accord, Gw Ui/ plsws! Con pEUE Ay ala) Tmallsy
6 | White butterflies danced on the wing, gl o play i) b cuad
7 | And still the Singing Skylark Soared, ( guLia /alliteration) cladi o 3k 8 83 )5 ey
8 | And Silent Sank and Soared to Sing. e adli ) g Liabia (aldl) 38 g
(Dissimilar /' (@4h)/ (wLi>) /alliteration ) L lc Jl5. Lis
(@ b ab) :s (rhymescheme) : s adiall 13 o 2l gy

(silent: ciao - sing: iz ) /( sank: @aaxs! - soared: zisyl) @ Glab
: Rhetorical Devices Lie3J1 gunldl (o glegd( Syelidl ) oISl puxiwy Lia o

(748 Jhw¥i ) 4wid dyaltly iy dayliie oleds :alliteration / wUlixdl ()

(adddy [ adi ) (il Caay ) Wik g Aals ey : dissimilar / @bkl o) slasl (Y
Silent Sank and Soared to Sing: 8 sl & Las -

¢




| Comprehension : (& ahaial) /pgdl) dlia

1) What is the rhyme scheme of the above stanza? oo g mdl) adaball 4318 /g add) (38l s& La—
* Answer: (abab)
2) What does the word " accord' mean ? " accord/ "aSli dals ek i -

* Answer : agreement.

- Find a word that means "agreement "? *Answer : "accord"
3) What were the butterflies doing? Sl Al Jadi ilS Y iLa -

* Answer : They were dancing

4) How does the poet describe the skylark? ¢ 3l il o o L&) Ciual (i -
* Answer : It sings as it flies higher and it doesn’t sing as it flies lower.
(fage Ladie Ul (o gy adl p Ladie ()

5) What was the skylark doing? 3,48l ila Jady o\S 13 -
* Answer : It was hanging / flying between the earth and the sky.

6) Find an example of alliteration in the above lines? S.odle) Jaud) ¢ra puliadl Jo Ylia aa -
*Answer : " And Still the Singing Skylark Soared ;" / And Silent Sank and Soared to Sing

7) The poet uses many examples of alliteration. What is the letter she used to achieve this technique?
*Answer: "s" e sl Ny (&a8adl ddaadin ‘é:\.“ ciall g La uliall dlia) (pa dgsad) adddiu) sldd) -

8) Write down the line which indicates that the skylark stops singing while flying lower ?
S gadf bt Lais eUad) (o (i g 5,8 (o)) ) pade oA jladd) i) -
* Answer : And Silent Sank and Soared to Sing .
9) Find an example of dissimilar in the above stanza? e g il adalal) A " Ldal) 1 Lo YUia aa -
* Answer : ( Silent &uaa [sing x) o1 (sank @aax il / Soared g5 y1)

10) What are the rhetorical devices that are used in line 82 ¢ (Ul jladl 3 daadicial) LM fuall A La-

*Answer : Dissimilar : 5LaJ1/ 51 alliteration: g LixJ|
11) What does the white colour of the butterflies indicate? CeLa Al () G alll sedy 1ile N -

* Answer : purity : skl /[ £ad)

kA kA hkkhkhkhhkhkhkhhkhAhhkhkhAhhkhhhhkhAhhkhAhhkhkhrhhkhAhhhk ok hdhhkhkhohkhkhkhhhkhrhkkhkhkhhkkhhohkhkhhhkkhrhkkhkhhhkkhkrhkkhkhhhkkhhhkkkxk*k

Third Stanza : &l g add) adaial)

9 | The cornfield stretched a tender green ladly ) pcadf 3,40 Jaa sl

10 | To right and left beside my walks; my = the poet :3,elall | ) shd quilag ) Mg Gaaad) A

11 | 1 knew he had a nest unseen he = the skylark:s Lida Wie 4gal o))

12 | Somewhere among the million stalks. Oad) Cpha O La (lSa (A
(abab) :s (rhyme scheme) ahiall 133 5 ol glay)




| Ul adaball /agdll Akisd: Comprehension|

1) What is the rhyme scheme of the above stanza? oo g mdl) adaall 48N [ 5 add) ¢y 50 sa L —
* Answer: (abab)

2) What does the word "' tender'* mean ? ™ tender/ "ob /uas" dalS et i -
* Answer : fresh.

3) What do the underlined pronouns " he "and " my" refer to? = bi lgiad £ gagall ™ silaiall 3528 13 o -

* Answer : (he) The skylark * (my) : the poet

4) How does the poet describe the cornfield? ¢ 3,4 Jia 5 e lil) Chual ik -
* Answer : It is tender and green.

5) What is the poet doing in the cornfield? € 5 M) Jia 85 L) Jadi il -
* Answer : She was walking.

6) What does a bird do in a nest? .l B i) Jady e -
*Answer : It lays eggs

7) Find a word in the above lines that means "hidden"?

hidden" .A3a 2 Al odei ¥ (pa dalS aa -
* Answer : unseen.

8) What season does the poet refer to by saying " tender green"?

fadly puad) Led gy 3 e ldd) Al judi M) Juadl) o La -
*Answer : spring / &=

9) Does tender suggest something "fresh and young" or "old and strong"?

$ 5 R9 al o dal Qldig Baa 5 8 ) pdd gl Ja -
* Answer : "fresh and young".

10) Find a references to another listener, apart from the poet herself?
¢ Lgadi 3 elill oo tae JA) palsa 1529 S a2 e 2 -
*Answer: Y\ yhw /linell: "1knew he had a nest unseen"
11 ) How do we know that the poet was inside the cornfield? 5,3 Jia JAha il 3 elal) o o Jaiud (i -
*Answer : " To right and left beside my walks; [ s} jawd) JNA (e
12) Find a word which means " a place for laying eggs"? Answer : " nest " $"Uaull g gl (e " ai dalS ail) (e 3 -

Fourth Stanza : &l gadd) adiall

13 | And as | paused to hear his song his/ the skylark ALl ) placd g Lalla g

14 | While swift the sunny moments slid, (wlix/ alliteration) | bmw a8 duwadial) clliall) cils

15 | perhaps his mate sat listening long, (,SWll (e 13e JA) aaiea 3929 Juld ) | Dligh aaliod Cuuls 4388 Ly

16 | And listened longer than I did.  (-Lad) ¢e sl Cil g 3 jae 38 e L) o i) Ul culad Laa JAS) coraiaal 9
(abab) :s (rhymescheme) : sa ahaiall 13gl 5 add) play)




| Comprehension : gl ahiall /aghll Alif |

1) What is the rhyme scheme of the above stanza?  9olei 5 adll adaiall L8&Y /g &) ¢y 60 94 La —
* Answer: (abab)
2) Does the word ** swift" mean "'slow' or ' fast'? $ et ol Mo day et swift dalS Ja -
* Answer : fast.
3) What do the underlined pronouns " his "and " I" refer to? $hi Lgiai £ glagall " jiladal) 3605 3l o -

* Answer : (his) The skylark * (1) : the poet
4) Why did the poet stop? ¢ 3 oLl cud g5 lal -
* Answer : To hear the skylarks' song.
5) Find a references to another listener, apart from the poet herself?
?MS}M\&:\&}\@L&{,@\,‘,&;&JAQ-
* Answer : 1- The skylark's mate : 3l yad&d,/ [ i - perhaps his mate sat listening long,

6) According to the above stanza, Who are the two listeners who were listening to the skylarks'
¢ 38l pliad Laabug ULS o)Al ¢ jlaatioal) pR (¢ 03] g i) bhﬁaﬂ lﬁéjsinging?
*Answer: 1) his mate : 444 2- The poet : 3Ll
7) How do we know that the poet leaves the cornfield before the skylark has stopped singing?
Soliad) oo 3l il gi g 5 ,AN J8a ¢ jae 38 5 e LAl o) el Cis -
*Answer : " And listened longer than | did "

8) The poet uses many examples of " alliteration". What effect is the poet trying to achieve with this
technique?

fslal) 138 DA e Abidad el Jolay ) Ll La | (uliad) de ALY fa aad) aadia) LAl -

*Answer : 1) link dissimilar words / 83l&ial) culalst) Jay
2) adds to the rhyme / 8axaill glay) jjay

9)Suggest a suitable title for the above stanza? § odlef g ndd) adaiall Luulia Ul gis ¢ j8) -
*Answer :" A skylark "

A-The poet describes how................. (content / lonely / sad)

B- She sees a skylark........c..ccoee..... ( flaying away from the cornfield / flying in the sky / falling toward her)
C-lt doesn’t sing as it flies ......ccccoeeeeeieiinieenne. ( lower / higher)

D-Butterflies.......ccveeeeeeeveecececie e in the cornfield . ( sit quietly / move slowly / move quickly )

E-The skylark nest is .......ccceeveererereererenenas (visible / hiddenin / far away from ) the cornfield.
F-She...cooeceeieieee. ( notices /imagines / knows ) its companion is also listening.
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Oladal b el Jisw 98 literature Spot 4l o) 3auadll Joa il 1 Adiadle
o Bk bl o AaY) elia by g B pdilaa dadal) Alicd) 3y 0989 5 40
u.‘ﬁcﬂﬁ,ll@\oﬂ&:\ag ML@M‘J#M&S‘M‘J‘SM‘&M‘M\
oaiaY) B dlalal 3 ga gall (@Y o ddia o) sadd)




— ——

Around the World in Eighty Days

a2 Gailad B allal) Jsa

Title: o) sl Writer : il
Around the World in Eighty Days Jules Verne
ps: Clal (b allad) Jsa G Jsa

Aeharn: Stower | D
—

The elements of the story : 4aill jalic

1)place /sl - (England : ) ilad)
2)Time/cw -Wednsday,2,0ctober .(1873)
-Mr .Fogg / £ 8 2 (A9 Qus) ouad) Jay)

-Jean Passepartout/ Ssijbualy (ol d [E 98 aad) aad)
-Sir Francis Cormarty /(= ba S (sl 8 L)

-A young Parsee (a9 § S (mld Gld /Ada ) b Jula )
-The conductor/ JSIXl Jasa

3)Characters/cliaisl)

Qualities of the Characters : galadl) clia

1) Mr. Fogg : £2 udl  / calm s confident &5 rich
2) Sir Francis/ussi 3/ easily be angry sl g

3) The conductor /SI3 Jwasa unkind k! ¢ greedy aéa
4) A young Parsee/ Jilill— @l QL&) enthusiastic wais  intelligent face 483 ke 53

A




Summary: aall) (ails

A Gm A G AUy oS o galad) B el gaa) B ALY aa) b Ad) ¢ dall) sda  (Sal
Al Ao ogaad a8h ¢ ool (bl B plac] gl cpdl) slBaaly 7o oulbld Ao lhy aliY)
ey pL A5Sa) (B arlanTy () g gb bl B I ¢ L Lagy (il (b allall Jga e i
ALy o gani ogBaal O (pa af L ¢ AN Jad Jiatiiall (pa Al g Lagy Gilal G alladl elad) aan B

c ) s e Gpaslia | gilS g La gy Cpilal Al A JS A bl o) AdSay ¥

doa taa A8y by aghy lSd ¢ AdLdlSaly LG Laga Ol Al ARG ady gsd (ulild (s
Ol addl) sapluse g in ) Liiag ¢ Lagy Gl (2 allad) Jsa ddla ) abady ST ¢ allad) dday &
Aaaal) il g ¢ Bagadi A8y Ala yll bbia 7 gd (bl (S ¢ agila ) el agailia Jgada ¢ gl il
) Bk o bl dapa Al ol cd g By ¢ paa B Gugad) I oAl e daly A

b gial) G ) B8 AL g dgaaal)

aigl (A slaas Al paa (o Al Al ¢ aa (B gead) () g bl g 98 ulald Juag Ladrag
sl By« Lagy pde 4G A 3B Aa ) oda g ¢ gdigl) aaally jaa¥) Al e 3 ALY Ao g
o by Ay ol e by ¢ Jlaad) Bayad cuilsd ¢ U Aslal) pa qall B g sh (bl adg
don sl o a8 4) agd g daniy () g Adlg ol g dgaad (8 Lgd Sy Al ¢ gdl
USIS ) Ladd daallg slrage Balia Lide ¢y gSam ™ Bayaad) dla g 30 DB 349 ¢ Lagy (pilad 8 allald)
Aa ) cd gy ¢ Adla gy ) dre QL o da g3l culdl g Jadllg ¢ AieS Aga A Sy g
Saal) ASid) Aol g digd) A USIS ) aly) D aglaa (pe oS ish A sl A Lagy e diu

sl Gual) g e BAL B i mi () Lagy sde AL

haally (2 siall Gmall g e BAL Adaul gy () B Ll g8 g3 ) 4 gl )58 &S RigR (ag
Ada (8 458 aY) Baadial) ¥ gl (A gSuaad] B Gl ) G 7 58 (il )8 L) (g ¢ galgd)
¢ ] B s ) A guag 2i g ¢ B AL (e Ao S galgd) ) Baoh o8 Lagy YT i i)
dap (B aaat) Sl dand gy @l g 4 e Baadial) Cl gl A &) gagad ) Lald Glhild 4dls ) 4l
Ak




The story, set in 1873 CE, is about an Englishman,

Mr_Phileas Fogg, who is tryingdsts: to complete a
journeyala; around the world ald dsain eighty days. At
this point in the story, he and his travelling
companion4aaa the Frenchman Mr passepartout, are
travelling ¢s_8wsthrough India by train. They have
befriended | sssbsanother traveller, Sir Francis Cromarty.

F YAVY ?Lﬁgﬁf@‘h\ Jj-ﬁg:\-“ duall) o3
poiy O Jslag s ¢ (858 ol ) sl g alad)
O Ada ) ah@_h&@ﬁhﬁ@é&i\dpﬂaﬁ
(bl ) ) ol Al) dala g 9a duadl)
e Laliaay Llh cn UL gl e o e
(PSS el ) pacall ¢ AT

1. When does the story take place ?
2. What is Mr Fogg trying to do ?

3. How are they travelling through India?

$4uall) clisa e
€ s Ll £ 5b dpndl Jslas g3 La

Sl e o) lasy s

The train stopped < 55 at eight o’clock, in the midst b~ s0f @
glade «lesome fifteen miles beyond Rothal, where there
were several bungalowss = J )l and workmen’s cabins.
The conductor J—==sall| passing = along the carriages,
<l alishouted W& L, ‘Passengers s dwdlwill get out
here!’

‘Where are we?’ asked Sir Francis.

‘At the hamlet 4._%0f Kholby. 253

‘Do we stop here?’

‘Certainly. The railway-xall 45 jsn’t finished. 4aiSe Cal?
‘What! Not finished?’

‘No. There’s still a matter of fifty miles to be laid from here
to Allahabad, where the line Lall begins againass ¢ -l

s do e by B Al delud) wie jUall) il g5
AUia oS G QUi Adta (e Da pdis Auwad Iga
Juaadl Slasa g 1 58Y) (o Byl

S "M E e gl e ey SN pala oS
IS J (o tlal) aan

1A Gl sl A ) Jeladi g

s i f b

neLia d’é"m Jar

"Moyaal) ASud) bl sy (e plgEN) ol o astaly
M€any AL ol 113"

) LA (e Sha (el ey Ladllia JIa Y 3
L6 A B e badl) oy dua ol Al Aaa

4. When did the train stop ?
5. Where did the train stop ?

6. Who was shouting along the carriages ?

7. Find the word which means ** a small house with one floor™ .

8. "Why did the train stop at the first place ?

9. Write down the name of two cities mentioned in the paragraph?

10. Where did the line begin again ?

¢ Uall) (b g3 ia

$ bl e g QS (e

Jaa) g Gt Cpe Jke 1 alina 4alS aa

¢ Mgl Jl.hﬁ\ dsﬂ Jalal
3881 (e Oilida (pan) S

¢ paa e dadlf oy ol

“Yet you sell tickets_S\xi from Bombay to Calcutta,” retorted
Sir Francis, who was growing warm «uaall jady,

‘No doubt,” replied «\slthe conductor S\l Joass, ‘but the
passengerscs_ il know that they must provide means of
transportation J& 4lw sfor themselves from Kholby to
Allahabad.’

‘Sir Francis,’ said Mr Fogg quietlys s, ‘we will, if you
please, look about for some means J:t s0f conveyanceds to
Allahabad. 2L &) i

¢ Ui ) sliagy (o LSIAEN and clj Y Ald s g
lal

cuaidly ey fag 281 g ¢ Gudaiy Qa8 aeal)
Cpflaal) o8 ¢ QI aala qilal ModE M
\ - G
Q) A (A 6A (a pgeuddY JAT Aliug ) 932 O g agd)
"._’L."

Sl Galia M g md) JB Y Gused) B b
,JQ\&\%MJ\@@J&ME‘M




11. Find the expression which means **

12. Write down the names of two cities from the lines.

13. How did both Sir Francis and Mr Fogg react to the situation?

getting annoyed."

MLl muay " g o3 pllbaal) 3a

o) B Laa S8 &8 (piilite aa) IS

¢ 5h 5 sl b e S Jad 4 ALe

Main Idea:

Mr Fogg expected delay : 4a i (DA palil) 2893 38 (S 568 udl)

‘Mr Fogg, this is a delay _algreatly to your dlsadvantage
elialiadl dNo, Sir Francis; it was foreseen. =8 sis’

‘What! You knew<é e that the wayé: sbll—

‘Not at all, but | knew that some obstacle <lse or other
would sooner or later arise <3 on my route & .

Nothing, therefore, is lostailas &3 | have two gained—wiS«
days ol to sacrificedssaill, A steamer 4 s 4 leaves
&3 caleutta for Hong Kong at noon, on the 25th. This is
the 22nd, and we shall reach J—: Calcutta SIS in time.’
There was nothing to say to so confident s a response .

dalle B Gl e al M g8 )
a8 gia O\ Al ¢ Qe A S
" Gkl g cde s 1A
ji Clial) amy 0\ QSJJi g.usjj sdﬂh}" u.b "
Gh G Sal g Sale L B g
U#Lm‘ Cia g L'g.ﬁ o418 @3 f-g-*-:ﬁ Y o« gilﬂl.u
) UgShs a6d g Lldy Db | lagy Ll
98 asall | (G padly Gualdd) g ¢ il die i eS i gp
chgll B UGS ) Jal o oy cuodally AU
A g LY el Lo 1ay J L AU Gty ealial

1. How many days did Mr Fogg gain ?
2. When did the steamer leave ?
3. What is a steamer ?

4. What is the idea presented in the paragraph?

8 58 Lad) (5l Lblizal Lagy aS
SALdL) s e
45 AL Adud) ala

93 881 8 dpuusi ) S A La

Main Idea: Mr Fogg and his friends searching for a means of transportation: J& dluu g (& ¢ siay o sB3al g £ 55 uud)

Mr Fogg and Sir Francis Cromarty, after searching the
&l amvillage 4dlifrom end. to end, came back!sle
without having foundaaal gs2 anything. ‘1 shall go afoot,’
18yl e ) usaid Phileas Fogg.

Passepartout, who had now rejoined~=3 his masters.,
made a wry grimace, (4,5 »3S)as he thought of his
magnificent, but too frailis %< Indian shoeseigll o3,
After a moment’s hesitation22 5, he said, ‘Monsieur, I think
I have found<=2>.5 @ means of conveyanceds 4l 5.

‘What?’

An elephantdsél An elephant that belongs tod 2s= an
Indians~ia Ja_ who lives but a hundred stepss ska 4 from
here.” ‘Let’s go and see the elephant,’ replied Mr Fogg.

& wte

L}“““w‘u‘;JL‘JJS‘U‘:‘MJ‘JéJ?“SU.&J%MJ e
S @) 139 O 93 AT ) Ll a4 A0
A e L b s 5 58 (sl OB
il gl Adlda A S S Ly ¢ (Luls )
Ciaa g A i B a3l cpe ciliad ay g cadl )
"N Al g

¢)3la
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5. How did Fog and Francis return from searching?
6. What does the expression ** wry gimace' mean ?
7. What is the idea in the lines?

8. Where does the elephant live ?
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Main Idea: Mr Fogg and his friends find a means of transportation: J& g ¢y 52z o 3Baal 9 (§5d Ll

They soon reached 'stwsa small hut_ww= #S. Enclosed
Llsawithin some high palings z\, was the animal in
question. An Indian came out z_aof the hut, and, at #eir
requestells, conducted theme22@ within the enclosure
s b The elephant, which was reared, 43z 3 &3 not to be an
animal that merely carriedd«~1 things around, but for
warlike purposes, 3% =l ) was half-domesticated <zl
=« Happily, however, for Mr Fogg, the animal’s
instructionlel=s in this directionsla3l had not gone farla,

and the elephant still preservedhii~y jts natural gentleness
dmpball diela 5,
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9. How do we know that the elephant is kept safely ?

10. Why was the elephant reared?

11. How do we know that the elephant was unaggressive?

¢ olals B gina gaall of G i (i
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Main Idea: Mr Fogg wants to hire the elephant from the Indian man:gigd) JaJl (re Jll) jlafind & (398 L)

Kiouni 5S- this was the names~! of the elephantJsll —
could doubtless travel il rapidly for a long timeil sk 8,
and, in default of any other meansil s of conveyanceds;
Mr_Fogg resolved s to hiressbics him. However,
elephants are far from being ¢ sSi 2icheapias yin India
as they are becoming scarces b, Male elephantsdldll ¢y,
as they are only suitable “xstisfor circus shows<l el g g e,
are much soughtl' i) 4, 5llas after especially as the majority
are domesticatedle=:s 5 & When therefore Mr Fogg
proposed ¢ _dito the Indian to hire sabiw Kiouni, he
refusedu=é, point-blank. Mr Fogg persisted, offering the

excessive sum of ften pounds<lesis 3 3eran hour for the

loan of the elephant to Allahabad. Refusedu=s_. Twentﬂ

pounds]? s 5 »ieRefusedo=i s also. [Forty poundsf? Still

refused.u=é » J %
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12.'What was the name of the elephant ?
13. Why are elephants not cheap in India?
14. Why are male elephants much sought after?

15. What did Mr Fogg propose ?
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Main Idea: Mr Fogg wants buy the elephant from the Indian man:sigll Jall ¢se Jaill £1 )& & 5 (398 el

Phileas Fogg, without getting in the least flurried s o) ¢ 52
J«¥), then proposed to purchases! »& the animal outright,
and at first offeredu=_c @ thousand pounds| for him. The
Indian, perhaps thinking he was going to make a great
bargaindiia, still refusedu=é ». At [two thousand pounds|
ayia Y+« «the Indian yielded! s.
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‘What a priceas = 4 4
Passepartout, ‘for an elephant.’

good heavens!’ criedZ »=

gigd) (@89 Asia (Al e die

16. How much did Fogg pay for the elephant?

AN Lial & g8 apcal) ada a8

Main Idea: Mr Fogg wants to find a guide during the journey :4a i A agd Jala alag 14 0 (398 L)

It only remained now to find a guide, which was
comparatively easy. A young Parsee*« 4 <& with an
intelligent face 4S> z«3, offered his servicesailas (e,
which Mr Fogg acceptedc s, promising '»=!ss0 generous a
rewardslélSe as to materially stimulate 3 his zeal oses.
The elephant was led out and equipped. Provisions were
purchased at Kholby, and, while Sir Francis and Mr Fogg
took the howdahs*zasdl on either sidegailsll 3,
Passepartout got astride the saddle-clothz » between
them. The Parsee perched himself on the elephant’s
neckdaill 3=, and fat nine o’clock they set out from the
village<: 4, the animal marchingcibs off through the
dense—iS forest 4leof palmsd:aill by the shortest cut <3l
Gkl
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17. Wirrite three characters of the Parsee ?

18. Why did Mr Fogg promise the Parsee so generous award?. $4:5aa sllse; u ) § 68 ) o g 13!

19. Name four characters from the story?

20. What is the idea in the lines above ?

Sduall) (0 Cluadld &) S
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Vocabulary <ladal)

[ 1] Answer the questions.: LLiud) e al

1) What kind of house is a bungalow (line 6)? ¢ " bungalow "J s &gl e 53 gl —

*" a-house with one floor ." )5 Gia (e J e

2) How does the word hamlet (line 9) suggest that there aren’t many houses or people in

the area where the train has stopped?

?JM\L&&;&JS‘;"\S\M\‘;U»N\JQ)*\S\ e Sl lia Gl e " hamlet " AaS Jaicas
* "A hamlet is a very small village with few people and houses." . sall s (il (30 Jalf 23ay 0 pin 4y 8 8

3) What form of transport is a steamer (line 24)?

*"t’s a ship powered by steam.” AL Jead ddu a

¢ AL ) o Jal) Qi s (e ¢ 53 6l -

4) What kind of facial expression is a wry grimace (line 30), and why did Passepartout’s

face show this expression?

Eomadll 138 555kl da g edal Ialal " alatialy IS g da ) yulal (e g 53 ) -
* "t’s an expression that shows pain or unhappiness. Passepartout wasn’t happy...
ang La humas 0S5l 5 5kls OY Baleadly sl aae 5 AW e Ja el 08




5) Read line 36 again. Which words tell us that the elephant was kept safely away
from direct contact with humans?
¢ il bl Jlai¥) e lases (el 4 Bl 23 Jadll o U yas LSl gl 5 530 50 YT o | 81—
*'* enclosed :blss/ 3lae / palings: gl "

Comprehension: wabiu) g agdll i)
2 Answer the questions ; 4iu¥) oe Gl
1)Why can’t the train continue its journey from Kholby to Allahabad?
Al " Aaa M a1 A B e s Aaglia (e UAY) Say Al 1AL -
*" hecause the railway wasn’t completed.” clais) o 03l dgaaad) dSud) O ey

2) Why is Sir Francis annoyed during his conversation with the conducter? What
expression is used to mean he is getting annoyed? (line 15)
Vo shu fzle 3 Lo AVall aadiaial) it La € SIail) adald ae Addlaal) SO e 53 upead] Jh paad) 130l -
*"" because he feels cheated by being sold a ticket to somewhere the train doesn’t go"
Growing warm’/ zle 3¥ e Ju il 13 getting annoyed.
IR ) aa ¥ (Sl § SN Ay A0S 5 Adly i 4SY
3) How does Mr Fogg deal with the situation when he discovers that his train
journey cannot continue? How does his attitude differ from that of Sir Francis? Look
at lines 23 to 26.
Slginilia ()Sas Y JUall Ala ) o)) CAZES) Ladic pua o) aa (398 ) Jalali S -
*"Fogg says that he suspected that this might happen and suggests that they find another means of
transport. . UalY (e Al g A JAE Al g 7 Ry A1 1Al 38 Eigan aBgl Ad) £ b aad) J sy

4) Why did the Indian man decide to rear an elephant? ¢ Jail) dn 5 gaigd )8 13 —
* " for fighting / 5) Warlike purposes Juall Jay»

5 )How do we know that the elephant is not aggressive? ¢ (s al Jull o) o LS -
* " °It still preserved its natural gentleness’  Auagalal) asUaly Jadiag J) 3 43Y

6) How many people travel on the elephant? €l cfia o 158, cpdl) palddl) ue oS-
*" 4 peoples "

Complete the sentences with the correct word : 4ssauall dalsily Jaad) Jas)

| Calm s, confident (&5, enthusiastic usais, unapologetic J¥ix »£  worried &% |

1) The conductor is............... about having sold a ticket to Allahabad to the travellers,
even though the train will not take them there.

2) Mr Foggis............ that he will still complete his journey in eighty days.

3) Passepartout feels ............ about the prospect of walking the rest of the way to
Allahabad.

4) Mr Fogg remains ............... while he negotiates the sale of the elephant.

5) The guideis very .............. about making the journey by elephant.

Answers : <blay)
1 unapologetic 2 confident ~ 3worried 4 calm 5 enthusiastic




Ideas ; i
5) Find a line in the story that represents the following ideas. 4Gl <&y Jia e Gail) (0 22
1- time: <4l :
2 -money: Jwd ;
3 -transport: Jaill Jikuy

Answers : <blay)
1) lines 2021 2) lines 49-51 3 )lines 41-43

6) Consider the idea of transport. Compare the train (lines 6-15) and the elephant (lines 38—45). What
are the advantages and disadvantages of each mode of transport mentioned, and how does this relate
to the rest of the extract?

These two passages describing :

a train’s unfinished route and an elephant’s potential to be a good mode of transport are
interesting since the railway is not finished (line 11) and the elephant is needed to continue on
their journey.

The elephant, a live animal, is described like a mode of transport; it ‘could doubtless travel
rapidly and for a long time’. In this situation, the man-made transport fails, whereas the animal
seems to be a more positive investment.

7) Do you think that this story shows the importance of time? Justify your answer

I think that this story shows the importance of time when Phileas Fogg is so precise about
the number of days they have to spare in line 24.

It also references time in the passage where the elephant is described (‘rapidly’, line 41).
However, I think that more importance is given to efficiency, because Phileas Fogg is not in

a hurry; he is instead very well prepared (lines 23-25).

Activity Book ¢sladll QS (P.57)

Analysis: Jalas

1 Read lines 8-22. Making specific reference to these lines, comparec_t and contrast the characters
&luadl of Sir Francis and Phileas Fogg . Commentdle on the things they say s s& and do ol
Remember to quote from the text . o=ill (o (WLBY) S5

ANSWErs :
Sir Francis :

Phileas Fogg :




